Q) 1%

062U(E)2 FE0| BABLICL 07U (L)
ChER&LIC

(ol &) s&he| S22 MF ol <ot =HolAM Fol o

06Y(E) 07(&)
712(C) =M 712(°C) =L\
x| o4 EbSVE-In] ™ /2% Zx /21 M/ 2=
SES 12 /17 1A 12 / 20 O- 1 ¢y
JETES 12 /18 N 1A 12 / 20 O- 7 ¢
& =
ARERZ{D
(& spyawagy
Hicte| 222 Mol &ollA 0.5~2.5mZ LA ELIC}.
062(=) 07U()
=L Zk31(m) =M Zt3l(m)
= °F /2% °F /2% °H /2% °H /2%
HZE outct G/ D> 05+1.0/05~1.0 O- 7 Oy 0.5~1.0 / 0.5~1.0
'E.*chlffg_ﬂ_ﬂrtr G 1 S 0.5~1.5 / 0.5~1.5 O-1 O 0.5~2.0 / 0.5~1.5
T, v G/ Gyd  05~1.5/05~15 O- 1 ¢ 0.5~2.0 / 0.5~1.5
=
i N WA 1.0~2.5 / 1.0~2.5 G 1 G 1.0~2.0 / 1.0~2.0
Af-giﬂiﬁ O A 0.5~1.0 / 0.5~1.0 -7 Oy 0.5~1.0 / 0.5~1.0
IR QP T2 32 A7l
A=ot FL AL BHELICE O (&) 15(&)oll H|7} 2B GLIC}
O@I2)olH o272t OtFl 7|22 12~14E, X 7|2
2 19~215 2 HH(F 7|2 10~11%, F| 17|
2 17~195)T H|25t{LF EASLIC,
O
M

% FadnEYe 0fF sle Y, 22

% o12bR| : HIZXIY7 A 0 BIH064-909-3920)

10A[Of| MS & LIC

1.0~3.0mZ LA SL|C

* 142(Q)~15Y(B)2 P2|Let =¥ 7|97 B8
of w2t A7t IS E JHsAo| YL, go=
=|= A4l o 28 &T57| Higiict

HFix
=1L






